| Efficiency vs Dxy |
.05
S S N N T N T T
]

] e S
o S A A
e A S A 0 S A
© Foo : : : : : : : :
[0 e e S A A S S A
YL e o
0.02f it
T e

X0 e e o e e
e T e

.QJ-.l.Q:IIII.IIII.IIII.IIII.IIII.IIII.IIII.IIII.IIII.IIII

o

S

m l__ ........................................................................
0.95++vbereseefinmnnedinnndn flo

0 E50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_base
[ Efficiency vs Dz | |—s— DQM_mkFit_TT_retrain_noCandDNN

—+— DQM_mkFit_TT retrain
N 0.7 . : . .
© :
-

.00 -t Jp
L R

Q g : : : : :
POB g
@) r : : : . .
.07 Froenreree frosreneenes frorereees H 1 R
© F : : : : :
O] s £ | IS R

e
oo g

A

1Q]

*

Ratio

0.9

| R EEEEE R YT % BT SRR EE 3N B S8  Er EE R T

08520 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


